Chemistry 3331-100

Organic Chemisery/Dr. Bamey Ellison
Thursdey: Oct. 23, 1997 @ 19:00 — 20:302™ ExamRamaley 250

1. {20 pes) Using sthanol as the carbon source, carry out the following rransformations.
Use any reagents you like.
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2 (10 pts) What is the mechanism of these reactions?
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3. {10
pis) What reagents are needed to carry out the following transformations?
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4. (10 pts) When 1, 2, 3 propanetricl is hested in KH50,, acrolein is produced. What i3
the mechanizm?
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5. (10 pas) Starting with cyclopentanone, carry out the following transformation. Use any
reagents you like
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6. (10 pts) What is the mechanism of this reaction?
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7. (20 pts) Starting with scetic acid, carry out the following transformation. Use any

reagents you like.
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8. (10 pta) What is the mechanism of thess resctions?
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